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I(X;Y ) = H(X) + H(Y ) − H(X,Y ) = H  (0.5) +b H  (0.75) −b 1.5 = 0.31
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https://colab.research.google.com/drive/1Zcnjlco0HEbiTQWvcpiPYA9HbtfB829x?usp=sharing
https://colab.research.google.com/drive/1Zcnjlco0HEbiTQWvcpiPYA9HbtfB829x?usp=sharing


==================================================
Processing rho: 0.9
==================================================
Vector Quantization Experiment
==================================================
[VQ][Bit per symbol: 1][Block Size: 2]Rate: 1.0, Distortion: 0.163
[VQ][Bit per symbol: 1][Block Size: 4]Rate: 1.0, Distortion: 0.095
==================================================
TC Vector Quantization Experiment
==================================================
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [1, 1]]Rate: 1.0, Distortion: 0.276
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [0, 2]]Rate: 1.0, Distortion: 0.970
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [2, 0]]Rate: 1.0, Distortion: 0.122
================================================

X  =n ρX  +n−1  N (0,σ )1 − ρ2 2



==================================================
Processing rho: 0.99
==================================================
Vector Quantization Experiment
==================================================
[VQ][Bit per symbol: 1][Block Size: 2]Rate: 1.0, Distortion: 0.107
[VQ][Bit per symbol: 1][Block Size: 4]Rate: 1.0, Distortion: 0.020
==================================================
TC Vector Quantization Experiment
==================================================
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [1, 1]]Rate: 1.0, Distortion: 0.204
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [0, 2]]Rate: 1.0, Distortion: 0.890
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [2, 0]]Rate: 1.0, Distortion: 0.030
================================================

X  =n ρX  +n−1  N (0,σ )1 − ρ2 2



==================================================
Processing rho: 0.5
==================================================
Vector Quantization Experiment
==================================================
[VQ][Bit per symbol: 1][Block Size: 2]Rate: 1.0, Distortion: 0.305
[VQ][Bit per symbol: 1][Block Size: 4]Rate: 1.0, Distortion: 0.271
==================================================
TC Vector Quantization Experiment
==================================================
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [1, 1]]Rate: 1.0, Distortion: 0.374
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [0, 2]]Rate: 1.0, Distortion: 0.786
[TC_VQ][Bit per symbol: 1][Block Size: 2][Bitrate Split: [2, 0]]Rate: 1.0, Distortion: 0.343
================================================

X  =n ρX  +n−1  N (0,σ )1 − ρ2 2
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